He]arew WOI‘dS are lauilt from three—letter roots and letters added to those
roots. For example, NP means “he 1reatcl,77 NWPB means to read  and
NP means “readable.”

For each set below, try to ﬁgure out the pattern from the examples, and then

try to ﬁgure out the roots and from the roots the missing words. (Some are

very hard.)

NTPY
NP
11205
519N
ileliiby
P2
Valably
“on
U
D3
P2
Ton
mmi=
5N

to read
readable
to suppose
to eat

to l{eep
glue

to bend
opposite
non—Ferisha)D\e
flexible
sticky
reversible

FGQSOI’)Q)D\G

edible
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0N
OPIN
515
non
255
T
e
"xp
Ey
)
el
P
npow
DA
2y
na5o

mbx
oox
D™
yax
M5
Zhy

red
rubella
to drip
[a] cold
dog
yellow
sugar
short

silence

paper
diabetes
osthma
)'Dou"a\bsis
Jo«unc‘ice
bureaucracy

FO\)D ies

photograph
plloto grapher
pocket

color / paint

to steal

folder
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NS
Y
Zuy
a1
b
Y
o™
yax

b
aRpia
P>
Zlels
12
e
v
2wnb
TP
WD
mpD
mnen
WD
1720

to drive

watch / clock

ﬁ\e

Hw'.e{’

driver
watrchmaker
)oic\z)ooc\zér
Fain)’er

to iron

an iron

to comb

a comb
screw

to open

to pour

to think
to cool
{)unne\
r‘eg‘iﬁer‘o\;’or‘
\?e&
com)ou;'er

screwc‘river
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